Settings: Date Range: 04/04/2025 - 04/04/2025 Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier

Data for: 04/04/2025 05:00:00 to 04/11/2025 04:59:59 Dalton Pay Rate Total Hours 0.00 Job Title Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 \$0.00 Avg Payrate **James** Pay Rate Total Claimed Tips ob Title Hours Total 0.00 \$0.00 Sales: \$0.00 \$0.00 Tips: \$0.00 Gratuity \$0.00 **Grand Total** \$0.00 Avg Payrate \$0.00 Mike Pay Rate Total Hours 0.00 Job Title Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 **Grand Total** \$0.00 Avg Payrate \$0.00 **QR** Ordering Pay Rate Total Claimed Tips Total Hours \$0.00 \$0.00 0.00 Sales: \$0.00 Tips: \$0.00 Gratuity \$0.00 **Grand Total** \$0.00 Avg Payrate \$0.00 Brashers, Matthew Pay Rate Total Job Title Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 **Grand Total** \$0.00 Avg Payrate \$0.00 Caraway, Austin Job Title Pay Rate Hours 0.00 Total Total Claimed Tips \$0.00 \$0.00 Sales: \$0.00 Tips: \$0.00 Gratuity \$0.00 **Grand Total** \$0.00 Avg Payrate \$0.00 Christe, Debra **Pay Rate** \$12.75 Job Title Hours Total OC - Utility \$218.47 Total 17.13 \$218.47 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 Tips: \$0.00 Gratuity **Grand Total** \$218.47 \$12.75 Avg Payrate Delgado, Carlos Pay Rate \$12.50 Total Job Title Hours \$100.74 OC - Busser 8.06 Total 8.06 \$100.74 Sales: \$0.00 Tips: \$0.00 **Claimed Tips** \$0.00 \$0.00 Gratuity **Grand Total** \$100.74 Avg Payrate \$12.50 Eding, Ella Pay Rate Total Hours 0.00 Total \$0.00 Job Title Sales: \$454.81 Claimed Tips \$0.00 Tips: \$103.00 Gratuity \$0.00 **Grand Total** \$103.00 \$0.00 Avg Payrate Eding, Kim Job Title Pay Rate Hours Total Total 0.00 \$0.00 Sales: \$124.97 Claimed Tips \$0.00 \$62.71 \$62.71 Tips: \$0.00 Gratuity **Grand Total** Avg Payrate \$0.00 Eding, Ray Pay Rate Total Hours 0.00 Job Title Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 \$0.00 Avg Payrate Enoch, Lauren Job Title Total Pay Rate Hours Total 0.00 \$0.00 Sales: \$0.00 Tips: \$0.00 **Claimed Tips** \$0.00 \$0.00 Gratuity **Grand Total** \$0.00 Avg Payrate \$0.00 Freeman, Taden Pay Rate \$12.50 Job Title Hours Total OC - Cook 7.56 \$94.51

Total

Claimed Tips

Sales: \$0.00

7.56

\$94.51

\$0.00

Tips: \$0.00	Gratuity Grand Total	\$0.00 \$94.51	
	Avg Payrate		\$12.5
Gorskey, Kevin	Pay Ra	te Hours	Tota
OC - Dishwasher	\$0.0	0 14.65	\$0.0
Sales: \$0.00	Tota Claimed Tip		\$0.0 \$0.0
Tips: \$0.00	Gratuit	ty	\$0.0
	Grand Tota Avg Payrat		\$0.0 \$0.0
Hale, Brittany			
lob Title	Pay Rate	Hours	Tot
OC - Server OC - Host	\$6.25 \$12.50	4.25 8.13	\$26.5 \$101.6
C-1 64 FOZ 4C	Total	12.38	\$128.1
Sales: \$1,587.46 Tips: \$88.70	Claimed Tips Gratuity		\$0.0 \$27.6
	Grand Total		\$244.5
Harris, Cecile	Avg Payrate		\$19.7
ob Title	Pay Rate	Hours	Tot
Salas, \$0.00	Total	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
	Grand Total Avg Payrate		\$0.0 \$0.0
Holt, Chris	Avg raylate		30.0
lob Title	Pay Rate	Hours	Tot
OC - Cook	\$13.00 Total	24.29 24.29	\$315.7 \$315.7
Sales: \$0.00	Claimed Tips	£7.£3	\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$315.7
	Avg Payrate		\$13.0
Jazdzewski, Samantha			
lob Title	Pay Rate	Hours	Tot
OC - Host OC - Server	\$12.50 \$6.25	7.31 7.70	\$91.3 \$48.1
0.1. 44.000.00	Total	15.01	\$139.4
Sales: \$1,922.00 Tips: \$168.35	Claimed Tips Gratuity		\$0.0 \$0.0
	Grand Total		\$307.8
lahuaan Chuis	Avg Payrate		\$20.5
Johnson, Chris	Pay Rate	Hours	Tot
	Total	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
11ps. 30.00	Grand Total		\$0.0
	Avg Payrate		\$0.0
Jolliff, Tristan	Pay Rate	Hours	Tot
OC - Dishwasher	\$12.50	10.93	\$136.5
Sales: \$0.00	Total Claimed Tips	10.93	\$136.5 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$136.5 \$12.5
Jones, Keylee	Avgraviace		Ų1L.
lob Title	Pay Rate	Hours	Tot
Sales: \$0.00	Total Claimed Tins	0.00	\$0.0 \$0.0
Tips: \$0.00	Claimed Tips Gratuity		\$0.0
	Grand Total		\$0.0
Kula Tracu	Avg Payrate		\$0.0
Kyle, Tracy Job Title	Pay Rate	Hours	Tot
OC - Server	\$6.25	9.24	\$57.7
Sales: \$1,897.28	Total Claimed Tips	9.24	\$57.7 \$0.0
Tips: \$43.69	Gratuity		\$0.0
	Grand Total Avg Payrate		\$101.4 \$10.9
Marchant, John			7_0
lob Title	Pay Rate	Hours	Tot
OC - Busser	\$12.50 Total	14.95 14.95	\$186.8 \$186.8
Sales: \$0.00	Claimed Tips	5	\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$186.8
	Avg Payrate		\$12.5
McWaters, Thomas			_
OC - Dishwasher	Pay Rate \$12.50	Hours 22.65	Tot \$283.0
	Total	22.65	\$283.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
7105. 30.00	Grand Total		\$283.0
	Avg Payrate		\$12.5
Murray, Logan	Day Dat-	Цант	Tet
ion title	Pay Rate Total	Hours 0.00	Tot \$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0

	Grand Total Avg Payrate		\$0.00 \$0.00
Murrell, Ben			
l ob Title OC - Cook	Pay Rate \$13.50	Hours 15.46	Total \$208.75
	Total	15.46	\$208.75
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$208.75
Dunale Amanda	Avg Payrate		\$13.50
Prock, Amanda Job Title	Pay Rate	e Hours	Tota
OC - Server	\$0.00	6.73	\$0.00
OC - Host	\$0.00 Tota		\$0.00 \$0.00
Sales: \$1,503.72	Claimed Tips		\$0.00
Tips: \$92.93	Gratuity Grand Total		\$0.00 \$92.93
	Avg Payrate		\$6.57
Raffaelli, Ashley			
OC - Server	Pay Rate \$6.25	Hours 4.34	Total \$27.14
	Total	4.34	\$27.14
Sales: \$939.38 Tips: \$73.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163: 373:00	Grand Total		\$100.14
	Avg Payrate		\$23.06
Raffaelli, Breeann	Day Data		Tata
OC - Server	Pay Rate \$6.25	Hours 3.39	Tota \$21.21
	Total	3.39	\$21.21 \$0.00
Sales: \$663.01 Tips: \$47.83	Claimed Tips Gratuity		\$0.00 \$0.00
T	Grand Total		\$69.04
Roid Ouings	Avg Payrate		\$20.35
Reid, Quincy lob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163. 20.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Reno, Lacee lob Title	Pay Rate	Hours	Total
OC - Server	\$6.25	27.90	\$174.36
5-l ¢5 196 75	Total	27.90	\$174.36
Sales: \$5,186.75 Tips: \$433.07	Claimed Tips Gratuity		\$0.00 \$0.00
•	Grand Total		\$607.43
Rich, Brook	Avg Payrate		\$21.77
lob Title	Pay Rate	Hours	Total
OC - Server	\$6.25 Total	13.71	\$85.72
Sales: \$3,772.71	Claimed Tips	13.71	\$85.72 \$0.00
Tips: \$286.00	Gratuity Grand Total		\$0.00
	Avg Payrate		\$371.72 \$27.10
Roberts, Jasmine			
Job Title	Pay Rate	Hours	Total
OC - Server	\$6.25 Total	4.20 4.20	\$26.28 \$26.28
Sales: \$1,785.67	Claimed Tips		\$0.00
Tips: \$118.34	Gratuity Grand Total		\$0.00 \$144.62
	Avg Payrate		\$34.40
Rost, Madison			
Job Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Sellers, Sylvester			
Job Title OC - Cook	Pay Rate \$14.50	Hours	Total \$249.15
OC - COOK	Total	17.18 17.18	\$249.15
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$249.15
	Avg Payrate		\$14.50
Smith, Ellen	D D	Haus	
lob Title OC - Utility	Pay Rate \$12.30	Hours 9.61	Total \$118.22
	Total	9.61	\$118.22
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$118.22
	Avg Payrate		\$12.30
	Day Data	House	T-4-
Stout, Gracie Job Title OC - Host	Pay Rate \$12.50	Hours 11.82	
Job Title			Total \$147.73 \$147.73 \$0.00

		Grand Total Avg Payrate				\$152.23
						\$12.88
Tucker, Anth	onv					
Job Title	· · · · ·		Pav	y Rate	Hours	Tota
OC - D	ishwasher			12.50	8.43	\$105.35
			,	Total	8.43	\$105.35
Sale	es: \$0.00		Claime	d Tips		\$0.00
Tip	s: \$0.00		Gr	atuity		\$0.00
			Grand	Total		\$105.35
			Avg Pa	ayrate		\$12.50
Walker, Anth	onv					
Iob Title	,		Pay	y Rate	Hours	Tota
OC - D	ishwasher			12.50	14.78	\$184.71
00 5			Ť	Total	14.78 \$184 14.78 \$184	
Sale	es: \$0.00		Claime			\$0.00
Tip	s: \$0.00		Gratuity			\$0.00
		Grand Total				\$184.71
			Avg Pa		\$12.50	
Wawina, Dan	12					
Job Title			Pay Rate		Hours	Tota
JOD TILLE					0.00	\$0.00
Sales: S	\$0.00		Claimed Tips		0.00	\$0.00
Tips: \$			Gratuity			\$0.00
			Grand			\$0.00
			Avg Payrate			\$0.00
Willard, Shell	l					
Job Title			Pay Rate Hours		Tota	
JOD TILLE					0.00	\$0.00
Sales: S	to oo		Claimed Tips		0.00	\$0.00
Tips: \$				atuity		\$0.00
1162. 5	0.00		Grand			\$0.00
			Avg Payrate			
		Summ		<i>y.u.c</i>		\$0.00
Job Code	Total Hours	Regular Hours	OT Hours	Total Pay	Regular Pay	OT Pay
OC - Utility	26.75	26.75	0.00	\$336.69	\$336.69	\$0.00
OC - Busser	23.01	23.01	0.00	\$287.63	\$287.63	\$0.00
OC - Cook	64.50	64.50	0.00	\$868.16	\$868.16	\$0.00
OC - Dishwash		71.43	0.00	\$709.73	\$709.73	\$0.00
OC - Server	81.47	81.47	0.00	\$467.13	\$467.13	\$0.00
OC - Host	34.66	34.66	0.00	\$340.67	\$340.67	\$0.00
TOTALS	301.82	301.82	0.00	\$3,010.01	\$3,010.01	\$0.00